PEEITTRSIE M ISBER TR 5 8 A BETREASEIR AMLAHBA  J gy o 2or AR 2 p

K3 3H31H 2 4H1H 2 4H2H 2= 4H3H P ptiz]ue| 4H4H 2Hh
B | shm ekt Ea G B = E Y HiE | U e HE | | B B | HE et =
FR[ECH/NECH 2 KG|HEKBR
REEG T (T T)GEE 23 KG IR 5KG B (=1)(500g) 52 &
iz |BEEEIK T +(QRC) 12 KG TDRM<ETE>(18L) 118 BT ()(CAS)< 1t 1E> 7 KG
E AEEXT (EHEER) 2KG B R < E> 4141| # |FEE(QRC)+ 5KG
= jz_ EREBRE-FEH| 18 g g FRHI(CAS)(1K)<E > 54
= AFREE 0.2KG| g = | B AE3E(CAS)(1K)<F= fe> 58
=] W AT (EHER) 2KG
T ST 0.2 KG
HEEEN 25KG BHIEE(CAS)<= > 16 KG| = |4E4TZ%E(60g x 10/)\E)< S AE 1 K8
% 4N (QRC)<NBRZ> 12KG| g STEHE(CAS)<EB > 16 KG ;!E: SR E(K)(101E)<E A HFIR> 18
g | 7 (& 0.6KG| & |TRAR<HE> 2KG| ~ [REE<EAN> 42518
|0 B |8 0.2KG| 7%
3
= | B |BRENEER 31KG ;]J%‘ INBBEL(INZE) 428 f\ NI () <R E> 31KG
® | B |Ey 0.2KG| g o |E 0.2KG
S ART(ER)+(QRC)<1EH 14 KG 2 El<&its> 12 KG BR(CAS)<IRIBE> 6 KG
_ B [ ABW)<HE> k6| ¥ |—wie 6KG| & |AEZE(QROH 3KG
?; ﬁ i 0.1KG * AT (60g x 10/0NE) 1 KE % KE#(QRC) 2KG
= x |DK<EE>(2.1K) 1| 7 |MREH<miEZ> 18
A ZEE M EHERE) 1KG
k| B [EEELEES>025m) | 42002 x|k 2181)
R | g |BpEZS>05m) 2 R
=]l i =l HE ol HE
3 RIREOH 4.5 e 72 ERUHREH 4.1
i T AEAE 2.4 T B A 22 B 1.7
g SHASE 3 SHASIE 32 SHASE 3
Pas B 1.7 B 0.8 B 1.2
#r FLoHIE 1 AidE 0.2 KIS 1
HECKT) 733 EHECKT) 857 &) 640
HPF I RLEF AP T RE




